

दिल्ली विकास प्राधिकरण
अधिशाषी अभियंता का कार्यालय
स्पोर्ट्स मैनेजमेंट सेल
1 मंजिल, रकेशओर बैडमिंटन स्टेडियम,
सिरी फोर्ट रोड, नई दिल्ली -110049 ईमेल: eesmc@dda.org.in

Date: 11/02/26

No.F.4(169)EE/SMC/DDA/2025-26/ 369

To

M/s Divay
Ground Floor, H. No. 15,
Main Road Village Auchandi
New Delhi-110039.

NOW:- M/o Various Sports Complexes/Golf Courses (A/R & M/O of works at Sultanpuri Sports Complex for the year 2025-26).
SH:- Provision of Gents & Ladies Toilets, Laying/Spreading of red morrum & bajri on jogging track, Repair & painting of MS fencing, Repair & painting of Kerb Stone on jogging track, repair of stones on outer boundary wall etc. at Sultanpuri Sports Complex.

Sir,

Your Percentage rate tender for the above mentioned work has been accepted on behalf of the Delhi Development Authority as per the rates and conditions given below.

नीचे दी गई प्रतिशत दरों और शर्तों के अनुसार, दिल्ली विकास प्राधिकरण की तरफ से उपर्युक्त कार्य के लिए आपकी प्रतिशत दर निविदा स्वीकार करली गई है।

- | | |
|---|--|
| 1. Estt. Cost/अनुमानितलागत | Rs. 28,15,254.00
(Rupees Twenty eight lakh fifteen thousand two hundred fifty four only).
(रुपये अट्ठाइस लाख पंद्रह हजार दो सौ चौवन केवल) |
| 2. Quoted % Tender Amount :
/स्वीकृतनिविदाराशि | Rs.12,69,679.69
(Rupees Twelve lakh sixty nine thousand six hundred seventy nine and paisa sixty nine only)
(रुपये बारह लाख उनहत्तर हजार छह सौ उन्यासी और पैसा उनहत्तर केवल) |
| 3. Percentage/Quoted : | 54.90% Below the estimated cost |
| 4. Time allowed/ समयकीअनुमति : | 75 days (दिन) |

The performance guarantee 10% of the tendered amount as FDR A/c No. 448703030151049 dated 04.02.2026 amounting to Rs. 1,26,968/- (Rupees One lakh twenty six thousand nine hundred sixty eight only) valid upto 04.02.2027 issued by Union Bank of India, Ochandi Branch, New Delhi-110039 submitted by you, has been considered by the Competent Authority.

सक्षम प्राधिकारी द्वारा विचार किया गया है कि आपके द्वारा प्रस्तुत की गई निविदा राशि की 10% निष्पादन गारंटी के रूप में एफ डी आर खाता संख्या 448703030151049 दिनांक 04.02.2026 रुपये Rs. 1,26,968/- (रुपये एक लाख छब्बीस हजार नौ सौ अड़सठ केवल) यूनियन बैंक ऑफ इंडिया, औचांदी, शाखा नई दिल्ली -110039 जारी किए गए दिनांक 04.02.2027 तक वैध माना गया है।

You are requested to contact AE-III/SMC for taking possession of the site & start the work. You are also requested to attend this office along with non-judicial stamp paper worth Rs. 100/- to sign to complete the formal agreement within 7 days from the date of this letter.

Contd.2

आपसे अनुरोध है कि साइट पर कब्जा करने और काम शुरू करने के लिए सहायक सहायक अभियंता-III / एस एम सी से संपर्क करें। आपसे यह भी अनुरोध है कि आपको इस कार्यालय में इस पत्र के जारी होने की तारीख से 7 दिनों के भीतर गैर-न्यायिक 100रु/- के स्टैप पेपर के साथ-साथ औपचारिक समझौते पर हस्ताक्षर करने है।

Please note that the time allowed for carrying out the work will be reckoned from the 10th day after the date of issue of this letter to commence the work. Further if you fail to commence the work as specified above, the award letter will be withdrawn by DDA without prejudice to any other right or remedy available on law will be at liberty to forfeit the Earnest Money and performance guarantee absolutely.

कृपया ध्यान दें कि काम करने के लिए अनुमति के समय को काम शुरू करने के लिए इस पत्र के जारी होने की तारीख के 10 दिन के बाद से गिना जाएगा। इसके अलावा यदि आप ऊपर निर्दिष्ट कार्य शुरू करने में असफल हो जाते हैं, तो डीडीए द्वारा किसी भी अन्य अधिकार या कानून पर उपलब्ध उपायों के लिए पूर्वाग्रह से वापस ले लिया जाएगा अग्रिम धन राशि और प्रदर्शन गारंटीको पूरी तरह से ज़ब्त करने के लिए स्वतंत्र होगा।

अधिशायी अभियंता
एसएमसी/डीडीए

Copy to (प्रतिलिपि): -

1. Chief Engineer (Sports)DDA
मुख्य अभियंता (खेल) डीडीए
2. Project Director - II (Sports)/DDA.
परियोजना निदेशक - II (खेल) / डीडीए
3. Director (System) DDA for display at DDA website E-mail at doc or pdf & (ddatender@dda.org.in)
निदेशक (सिस्टम) डीडीए
4. Secy/ /DDA.
सचिव / / डीडीए
5. Labour Commissioner, Rajpura Road, New Delhi.
श्रम आयुक्त, राजपुरा रोड, नई दिल्ली
6. Delhi Contractors Building association (Regd) No. 5503 Ch. Bhim Singh Road, Delhi (Ch. Prem Raj Bhawan New Chandrawal Road (UPC).
दिल्ली के ठेकेदार बिल्डिंग एसोसिएशन (पंजीकरण) सं। 5503 चा।भीम सिंह रोड, दिल्ली (चौ प्रेम राज भवन नई चंद्रावल रोड (यूपीसी)
7. Delhi Contractors Welfare Association (Regd) 306, Masjid Moth, South Extn. Part-II, New Delhi-110049 (UPC).
दिल्ली कन्स्ट्रक्टर्स वेलफेयर एसोसिएशन (रजिड) 306, मस्जिद मॉथ, दक्षिण विस्तार भाग- II, नई दिल्ली -110049 (यूपीसी)
8. Indian Contractor Association (Regd) G-80/20, Main Bazar Laxmi Nagar, Delhi-110092 (UPC).
भारतीय ठेकेदार एसोसिएशन (रजिड) जी -80 / 20, मुख्य बाजार लक्ष्मी नगर, दिल्ली -110092 (यूपीसी)।
9. Assistant Engineer -III/SMC/DDA for information alongwith copy of schedule of quantities.
जानकारी के लिए सहायक अभियंता-III /एसएमसी/डीडीए, मात्रा के अनुसूची की प्रति के साथ।
10. Head Clerk SMC/ DDA. He is requested to issue the Master Register at once.
हेड क्लर्क एसएमसी/डीडीए उन्हें एक बार में मास्टर रजिस्टर जारी करने का अनुरोध किया जाता है।
11. Accountant/SMC/ DDA.
लेखाकार/एसएमसी / डीडीए
12. Copy of agreement.
समझौते की प्रतिलिपि

अधिशायी अभियंता
एसएमसी/डीडीए

Percentage Boq

Tender Inviting Authority: Executive Engineer/Sports Management Cell

Name of work: Nilu Various Sports Complexes/Golf Courses (AIR & MO) of works at Sultampur Sports Complex for the year 2025-26)
 Sub Head:- Provision of Gents & Ladies Toilets,Laying/Spreading of red murrum & bajri on jogging track,Repair & painting of MS fencing,Repair & painting of Kerb Stone on jogging track,repair of stones on outer boundary wall etc. at Sultampur Sports Complex.
 Estimated Cost : Rs.28,15,254 .

NIT No: 12NIT/AE/P/EE/SWC/DDA/2025-28

Name of the Bidder/ Bidding Firm / Company
 DWAY

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevant columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

Sl No.	Item Description	Quantity	Units	Rate	TOTAL AMOUNT	TOTAL AMOUNT In Words
1.00	Earth work in excavation by mechanical means (Hydraulic excavator)/ manual means in foundation trenches or drains (not exceeding 1.5 m width or 10 sqm on plan), including dressing of sides and ramming of bottoms, for all lift, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil.	22.00	Cum	260.30	5726.60	INR Five Thousand Seven Hundred Twenty Six & Paise Sixty Only
2.00	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 and for all lift.	6.00	Cum	196.00	1176.00	INR One Thousand One Hundred Seventy Six & Paise Zero Only
3.00	Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete.	3.00	Cum	2123.75	6371.25	INR Six Thousand Three Hundred Seventy One & Paise Twenty Five Only
4.00	Clearing jungle including uprooting of rank vegetation, grass, brush wood, trees and saplings of girth up to 30 cm measured at a height of 1 m above ground level and removal of rubbish up to a distance of 50m outside the periphery of the area cleared.	1241.00	Sqm	17.60	21841.60	INR Twenty One Thousand Eight Hundred Forty One & Paise Sixty Only
5.00	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:2:4 (1 cement : 2 coarse sand(zone-II) derived from natural sources : 4 graded stone aggregate 20 mm nominal size derived from natural sources)	8.00	Cum	7878.50	63028.00	INR Sixty Three Thousand Twenty Eight & Paise Zero Only
6.00	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:5:10 (1 cement : 5 coarse sand (zone-II) derived from natural sources : 10 graded stone aggregate 40 mm nominal size derived from natural sources)	12.00	Cum	6518.60	78223.20	INR Seventy Eight Thousand Two Hundred Twenty Three & Paise Twenty Only
7.00	Providing and laying damp-proof course 50mm thick with cement concrete 1:2:4 (1 cement : 2 coarse sand (zone-II) derived from natural sources : 4 graded stone aggregate 20mm nominal size derived from natural sources).	10.00	Sqm	495.75	4957.50	INR Four Thousand Nine Hundred Fifty Seven & Paise Fifty Only
8.00	Providing and applying a coat of residual petroleum bitumen of grade of VG-10 of approved quality using 1.7 kg per square metre on damp proof course after cleaning the surface with brushes and finally with a piece of cloth lightly soaked in kerosene oil.	10.00	Sqm	146.15	1461.50	INR One Thousand Four Hundred Sixty One & Paise Fifty Only
9.00	Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement : 3 coarse sand (zone-II) derived from natural sources : 6 graded stone aggregate 20 mm nominal size derived from natural sources) over 75mm thick bed of dry brick ballast 40 mm nominal size, well rammed and consolidated and grouted with fine sand, including necessary excavation leveling & dressing & finishing the top smooth.	17.00	Sqm	749.30	12738.10	INR Twelve Thousand Seven Hundred Thirty Eight & Paise Ten Only

10.00	Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level : 1:1.5:3 (1 cement : 1.5 coarse sand (zone-II) derived from natural sources : 3 graded stone aggregate 20 mm nominal size derived from natural sources)	4.00	Cum	9045.75	36183.00	INR Thirty Six Thousand One Hundred Eighty Three & Paise Zero Only
11.00	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15° landings, balconies, shelves, chajjas, linels, bands, plain window sills, staircases and spiral stair cases above plinth level up to floor five level, excluding the cost of centering, shuttering, finishing and reinforcement with 1:1.5:3 (1 cement : 1.5 coarse sand/zone-II) derived from natural sources : 3 graded stone aggregate 20 mm nominal size derived from natural sources).	1.00	Cum	11505.50	11505.50	INR Eleven Thousand Five Hundred Five & Paise Fifty Only
12.01	Centering and shuttering including strutting, propping etc. and removal of form for : a) Foundations, footings, bases of columns, etc. for mass concrete	5.00	Sqm	392.15	1960.75	INR One Thousand Nine Hundred Sixty & Paise Seventy Five Only
12.02	Chairs, beams, plinth beams, girders, brusses and cantilevers	6.00	Sqm	736.40	4418.40	INR Four Thousand Four Hundred Eighteen & Paise Forty Only
13.00	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level. Thermo-Mechanically Treated bars of grade Fe-500D or more.	400.00	Kg	107.85	43140.00	INR Forty Three Thousand One Hundred Forty & Paise Zero Only
14.00	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete above plinth level. Thermo-Mechanically Treated bars of grade Fe-500D or more.	100.00	Kg	107.85	10785.00	INR Ten Thousand Seven Hundred Eighty Five & Paise Zero Only
15.00	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth etc. Cement mortar 1:6 (1 cement : 6 coarse sand)	18.00	Cum	7132.25	128380.50	INR One Lakh Twenty Eight Thousand Three Hundred Eighty & Paise Fifty Only
16.00	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in : Cement mortar 1:4 (1 cement : 4 coarse sand)	27.00	Cum	9344.35	252297.45	INR Two Lakh Fifty Two Thousand Two Hundred Ninety Seven & Paise Forty Five Only
17.00	Stone work (machine cut edges) for wall lining etc. (veneer work) upto 10 metre height, backing filled with a cement of average 12 mm thick cement mortar 1:3 (1 cement : 3 coarse sand) including pointing in white cement mortar 1:2 (1 white cement : 2 stone dust) with an admixture of pigment matching the stone shade : (To be secured to the backing and the sides by means of cramps and pins which shall be paid for separately) : Red sand stone - exposed face fine dressed with rough backing 30 mm thick	114.00	Sqm	5295.90	603732.60	INR Six Lakh Three Thousand Seven Hundred Thirty Two & Paise Sixty Only
18.00	Providing and fixing stainless steel cramps of required size and shape for anchoring stone wall lining to the backing or securing adjacent stones in stone wall lining in cement mortar 1:2 (1 cement : 2 coarse sand), including making the necessary chases in stone and holes in walls wherever required.	35.00	Kg	714.40	25004.00	INR Twenty Five Thousand Four & Paise Zero Only
19.00	Providing and fixing 1st quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge. In skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	227.00	Sqm	1267.95	287824.65	INR Two Lakh Eighty Seven Thousand Eight Hundred Twenty Four & Paise Sixty Five Only
20.00	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	114.00	Kg	133.70	15241.80	INR Fifteen Thousand Two Hundred Forty One & Paise Eighty Only
21.00	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete. a. Hot finished welded type tubes	1206.00	Kg	194.40	234446.40	INR Two Lakh Thirty Four Thousand Four Hundred Forty Six & Paise Forty Only
22.00	Providing and fixing stainless steel (Grade 304) railing made of Hollow tubes, channels, plates etc., including welding, grinding, buffing, polishing and making curvature (wherever required) and fitting the same with necessary stainless steel nuts and bolts complete, i/c fixing the railing with necessary accessories & stainless steel dash fasteners , stainless steel bolts etc., of required size, on the top of the floor or the side of waist slab with suitable arrangement as per approval of Engineer-in-charge, (for payment purpose only weight of stainless steel members shall be considered excluding fixing accessories such as nuts, bolts, fasteners etc.)	43.00	Kg	772.40	33213.20	INR Thirty Three Thousand Two Hundred Thirteen & Paise Twenty Only

23.00	40 mm thick fine dressed stone flooring over 20 mm (average) thick base of cement mortar 1:5 (1 cement : 5 coarse sand) including pointing with cement mortar 1:2 (1 cement : 2 stone dust) with an admixture of pigment to match the shade of stone Red sand stone	17.00	Sqm	1526.05	25942.85	INR Twenty Five Thousand Nine Hundred Forty Two & Paise Eighty Five Only
24.00	Provided and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS : 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 1:4 (1 Cement : 4 Coarse sand), jointing with grey cement slurry @ 3.3kg/sqm including pointing the joints with white cement and matching pigments etc., complete.	29.00	Sqm	1439.40	41742.60	INR Forty One Thousand Seven Hundred Forty Two & Paise Sixty Only
25.00	Providing and fixing M. S. holder hat clamps of approved design to C.I. or S.C.I. rain water pipes embedded in and including cement concrete blocks 10x10x10 cm of 1:2:4 mix (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) and cost of cutting holes and making good the walls etc. : 100 mm diameter	3.00	Each	362.85	1088.55	INR One Thousand Eighty Eight & Paise Fifty Five Only
26.00	Providing jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion, (i) A. including jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion, (i) Single socketed pipes, 110 mm diameter	11.00	Metre	377.40	4151.40	INR Four Thousand One Hundred Fifty One & Paise Forty Only
27.00	12 mm cement plaster of mix : 1:6 (1 cement: 6 coarse sand)	11.00	Sqm	343.65	3780.15	INR Three Thousand Seven Hundred Eighty & Paise Fifteen Only
28.00	15 mm cement plaster on rough side of single or half brick wall of mix : 1:6 (1 cement: 6 coarse sand)	20.00	Sqm	395.35	7907.00	INR Seven Thousand Nine Hundred Seven & Paise Zero Only
29.00	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	20.00	Sqm	156.05	3121.00	INR Three Thousand One Hundred Twenty One & Paise Zero Only
30.00	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/ ltr. of approved brand and manufacturer, including applying additional coats wherever required, to achieve even shade and colour. Two coats.	20.00	Sqm	137.45	2749.00	INR Two Thousand Seven Hundred Forty Nine & Paise Zero Only
31.00	Removing white or colour wash by scraping and sand peeping and preparing the surface smooth including necessary repairs to scratches etc. complete	20.00	Sqm	19.75	395.00	INR Three Hundred Ninety Five & Paise Zero Only
32.00	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade : One or more coats on old work.	1070.00	Sqm	102.80	109996.00	INR One Lakh Nine Thousand Nine Hundred Ninety Six & Paise Zero Only
33.00	Finishing walls with Premium Acrylic Smooth exterior paint with Silicone additives of required shade : Old work (one or more coats applied @ 0.83 ltr/10 sqm).	950.00	Sqm	88.55	84122.50	INR Eighty Four Thousand One Hundred Twenty Two & Paise Fifty Only
34.00	Dismantling stone slab flooring laid in cement mortar including stacking of serviceable material and disposal of unserviceable material within 50 metres lead	114.00	Sqm	266.45	30375.30	INR Thirty Thousand Three Hundred Seventy Five & Paise Thirty Only
35.00	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved.	3.00	Cum	263.95	791.85	INR Seven Hundred Ninety One & Paise Eighty Five Only
36.01	Supplying and stacking at site. a) Good earth.	19.00	Cum	775.50	14734.50	INR Fourteen Thousand Seven Hundred Thirty Four & Paise Eighty Only
36.02	b) Mkoorum.	16.00	Cum	768.25	12292.00	INR Twelve Thousand Two Hundred Ninety Two & Paise Zero Only
37.00	Supplying, stacking and Spreading 6 mm thick red bajri, watering and rolling complete including preparation of the surface and rolling. With road roller hand roller.	2656.00	Sqm	24.45	64939.20	INR Sixty Four Thousand Nine Hundred Thirty Nine & Paise Twenty Only

38.00	Manufacturing, supplying and fixing retro reflective overhead signage boards made up of 2 mm thick aluminium sheet, face to be fully covered with high intensity and encapsulated lens type heat activated retro reflective sheeting conforming to type - III of ASTM-D-4956-01 as approved by Engineer-in-charge. letters, borders etc. as per IRC : 67-2001 in silver white with blue colour back ground and with high intensity grade, pasted on substrate by pressure sensitive adhesive backing which shall be activated by applying pressure conforming to class II of ASTM-D-4956-01 and fixing the same to the plate of structural frame work by means of suitable sized aluminium alloys, rivets or bolts & nuts @ 300 mm centre to centre all along the periphery as well as in two vertical rows along with their resistant measures, including the cost of painting with two or more coats of epoxy paint in grey colour on the back side of aluminium sheet including appropriate priming coat. Overhead Informatory road signage	3.00	Sqm	5879.90	17639.70	INR Seventeen Thousand Six Hundred Thirty Nine & Paise Seventy Only
39.00	Providing and laying at or near ground level factory made kerb stone of M-25 grade cement concrete in position to the required line, level and curvature, jointed with cement mortar 1:3 (1 cement: 3 coarse sand), including making joints with or without grooves (thickness of joints except at sharp curve shall not to more than 5mm), including making drainage opening wherever required complete etc. as per direction of Engineer-in-charge (length of finished kerb edging shall be measured for payment). (Precast C.C. kerb stone shall be approved by Engineer-in-charge).	1.00	Cum	10117.60	10117.60	INR Ten Thousand One Hundred Seventeen & Paise Sixty Only
40.00	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS : 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required : W.C. pan with ISI marked white solid plastic seat and lid	2.00	Each	6515.55	13031.10	INR Thirteen Thousand Thirty One & Paise Ten Only
41.00	Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350 mm and 340x410x265 mm sizes respectively with automatic flushing cistern with standard flush pipe and C.P. brass spreaders with brass unions and G.I. clamps complete, including painting of fittings and brackets, cutting and making good the walls and floors wherever required : One urinal basin with 5 litre white P.V.C. automatic flushing cistern	2.00	Each	6258.75	12517.50	INR Twelve Thousand Five Hundred Seventeen & Paise Fifty Only
42.00	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:White Vitreous China Wash basin size 630x450 mm with a single 15 mm C.P. brass pillar tap	2.00	Each	2226.35	4452.70	INR Four Thousand Four Hundred Fifty Two & Paise Seventy Only
43.00	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete. Semi Rigid pipe 32 mm dia	2.00	Each	103.90	207.80	INR Two Hundred Seven & Paise Eighty Only
44.00	Providing and fixing mirror of superior glass (of approved quality) and of required shape and size with plastic moulded frame of approved make and shade with 6 mm thick hard board backing : Rectangular shape 453x357 mm	2.00	Each	1361.80	2723.60	INR Two Thousand Seven Hundred Twenty Three & Paise Sixty Only
45.00	Providing and fixing PTMT towel rail complete with brackets fixed to wooden cleats with CP brass screws with concealed fittings arrangement of approved quality and colour, 600 mm long towel rail with total length of 645 mm, width 78 mm and effective height of 88 mm, weighing not less than 190 gms.	2.00	Each	708.95	1417.90	INR One Thousand Four Hundred Seventeen & Paise Ninety Only
46.00	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. : Internal work - Exposed on wall, 20 mm nominal outer dia. Pipes.	6.00	Metre	335.00	2010.00	INR Two Thousand Ten & Paise Zero Only
47.01	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. : Concealed work, including cutting chases and making good the walls etc. a)15 mm nominal outer dia. Pipes.	18.00	Metre	497.80	8960.40	INR Eight Thousand Nine Hundred Sixty & Paise Forty Only

47.02	b)20 mm nominal outer dia. Pipes.	14.00	Metre	537.60	7526.40	INR SEVEN THOUSAND FIVE HUNDRED TWENTY SIX & Paise Four Only
48.00	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings. This includes joining of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge. External work. 32 mm nominal outer dia. Pipes.	55.00	Metre	438.60	24123.00	INR Twenty Four Thousand One Hundred Twenty Three & Paise Zero Only
49.00	Providing and placing on terrace (at all floor levels) polyethylene water storage tank, IS : 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.	1000.00	litre	11.00	11000.00	INR Eleven Thousand & Paise Zero Only
50.00	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931, a 15 mm nominal bore	2.00	Each	506.80	1013.60	INR One Thousand Thirteen & Paise Sixty Only
51.00	Providing and fixing C.P. Brass long body bib cock of approved quality conforming to IS standards and weighing not less than 690 gms. 15 mm nominal bore	4.00	Each	798.95	3195.80	INR Three Thousand One Hundred Ninety Five & Paise Eighty Only
52.00	Providing and fixing unplasticised P.V.C. connection pipe with PTMT Nuts, collar and bush of approved quality and colour. 15 mm nominal bore with 45 cm length.	4.00	Each	121.90	487.60	INR Four Hundred Eighty Seven & Paise Sixty Only
53.00	Making hole up to 20x20 cm and embedding pipes up to 150 mm diameter in masonry and filling with cement concrete 1:3:6 (1 cement: 3 coarse sand : 6 graded stone aggregate 20 mm nominal size) including disposal of malba.	1.00	Metre	209.20	209.20	INR Two Hundred Nine & Paise Twenty Only
54.00	Providing and laying cement concrete 1:5:10 (1 cement : 5 coarse sand : 10 graded stone aggregate 40 mm nominal size) up to haunches of S.W. pipes including bed concrete as per standard design : 250 mm diameter S.W. pipe	30.00	Metre	1016.90	30507.00	INR Thirty Thousand Five Hundred Seven & Paise Zero Only
55.00	Providing and fixing square-mouth S.W. gully trap class SP-1 complete with C.I. grating brick masonry chamber with water tight C.I. cover with frame of 300 x300 mm size (inside the weight of cover to be not less than 450 kg and frame to be not less than 270 kg as per standard design: 150 x 100 mm size P type. With common burnt clay F.P.S. (non modular) bricks of class designation 7.5	2.00	Each	2734.20	5468.40	INR Five Thousand Four Hundred Sixty Eight & Paise Forty Only
56.00	Providing and laying non-pressure NP2 class (light duty) R.C.C. pipes with collars jointed with stiff mixture of cement mortar in the proportion of 1:2 (1 cement : 2 fine sand) including testing of joints etc. complete : 250 mm dia. R.C.C. pipe	30.00	Metre	899.80	26994.00	INR Twenty Six Thousand Nine Hundred Ninety Four & Paise Zero Only
57.00	Constructing brick masonry circular type manhole 0.91 m internal dia at bottom and 0.56m dia at top in cement mortar 1:4 (1 cement : 4 coarse sand), inside cement plaster 12 mm thick with cement mortar 1:3 (1 cement : 3 coarse sand) finished with a floating coat of neat cement, foundation concrete 1:3:6 mix (1 cement : 3 coarse sand : 6 graded stone aggregate 40 mm nominal size), and making necessary channel in cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) finished with a floating coat of neat cement, all complete as per standard design : 0.91 m deep with S.F R.C. cover and frame (heavy duty, HD-20 grade designation) 560 mm internal diameter conforming to I.S. 12592, total weight of cover and frame to be not less than 182 Kg., fixed in cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) including centering, shuttering all complete. (Excavation, foot rests and 12mm thick cement plaster at the external surface shall be paid for separately) : With common burnt clay F.P.S. (non modular) bricks of class designation 7.5	4.00	Each	12725.00	50900.00	INR Fifty Thousand Nine Hundred & Paise Zero Only
58.00	Extra depth for circular type manhole 0.91 m internal dia (at bottom) beyond 0.91 m to 1.67 m. With common burnt clay F.P.S. (non modular) bricks of class designation 7.5	1.00	Metre	7591.80	7591.80	INR Seven Thousand Five Hundred Ninety One & Paise Eighty Only
59.00	Making soak pit 2.5 m diameter 3.0 metre deep with 45 x 45 cm dry brick honey comb shaft with bricks and S.W. drain pipe 100 mm diameter, 1.8 m long complete as per standard design. With common burnt clay F.P.S. (non modular) bricks of class designation 7.5	1.00	Each	26861.90	26861.90	INR Twenty Six Thousand Eight Hundred Sixty One & Paise Ninety Only

60.00	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, milled and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. Brass stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, paneling and dash fasteners to be paid for separately). a) For fixed portion, Powder coated aluminium (minimum thickness of powder coating 50 micron)	90.00	Kg	530.90	47781.00	INR Forty Seven Thousand Seven Hundred Eighty One & Paise Zero Only
61.00	b) For shutters of doors, windows & ventilators including providing and fixing hinges/ pivots and making provision for fixing of fittings wherever required including the cost of EPDM rubber / neoprene gasket required (Fittings shall be paid for separately). Powder coated aluminium (minimum thickness of powder coating 50 micron)	48.00	Kg	634.45	30453.60	INR Thirty Thousand Four Hundred Fifty Three & Paise Sixty Only
62.00	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic item). With float glass panes of 5 mm thickness (weight not less than 12.50 kg/sqm)	5.00	Sqm	1505.25	7526.25	INR Seven Thousand Five Hundred Twenty Six & Paise Twenty Five Only
63.00	Providing and fixing double action hydraulic floor spring of approved brand and manufacture conforming to IS : 6315, having brand logo embossed on the body / plate with double spring mechanism and door weight upto 125 kg., for doors, including cost of cutting floors, embedding in floors as required and making good the same matching to the existing floor finishing and cover plates with brass pivot and single piece M.S. sheet outer box with slide plate etc. complete as per the direction of Engineer-in-charge. With stainless steel cover plate minimum 1.25 mm thickness.	6.00	Each	2823.85	16943.10	INR Sixteen Thousand Nine Hundred Forty Three & Paise Ten Only
64.00	Filling the gap in between aluminium frame & adjacent RCC/ Brick/ Stone work by providing weather-silicone sealant over backer rod of approved quality as per architectural drawings and direction of Engineer-in-charge complete. Upto 5mm depth and 5 mm width	30.00	Metre	96.75	2902.50	INR Two Thousand Nine Hundred Two & Paise Fifty Only
65.00	Supply and installation of roof made out of sandwich 30/60 mm puff panel two side colour coated galvalume steel sheet insulated high density rigid polyurethane puff foam 40kg density 2 Kg + &- ,having a thermal conductivity, outer and inner 1st GI sheet 350 MPA coating mass of 150 g/sqm zinc Aluminium alloy coating panel maximum width 960 mm with tongue & groove interlocking systems. The e.p.s used as the core will be of self-extinguishing type. The overall thickness of the puff panel will be 30/60 mm. Make PPGI Puff insulated panels thick 30/60 mm both side sheet of national, Essar, Asian, Jindal duly secured using SDST Screw of size-12/25 and 12/55 with edm washers and further sealed with silicone rubber for added water protection. All Complete as per direction of engineer-in-charge.	39.00	Sqm	3668.35	143065.65	INR One Lakh Forty Three Thousand Sixty Five & Paise Sixty Five Only
66.00	Applying GST Correction factor @ 0.27 on DSR times except item no. 65	1.00	no.	71991.43	-71991.43	INR Minus Seventy One Thousand Nine Hundred Ninety One & Paise Forty Three Only
67.00	Add 3% cost index on DSR times except item no. 65	1.00	no.	77830.74	77830.74	INR Seventy Seven Thousand Eight Hundred Thirty & Paise Seventy Four Only
Total in Figures					2815254.31	INR Twenty Eight Lakh Fifteen Thousand Two Hundred Forty Four & Paise Thirty One Only
Quoted Rate in Figures			Less (-)	54.90%	1269679.69	INR Twelve Lakh Sixty Nine Thousand Six Hundred Seventy Nine & Paise Sixty Nine Only
Quoted Rate in Words		INR Twelve Lakh Sixty Nine Thousand Six Hundred Seventy Nine & Paise Sixty Nine Only				

सिरि फोट नई दिल्ली-110049

अधिसासी अभियन्ता
खेल प्रबंधन प्रकौष्ठ

11/11/26